I BE 1 ERBL 208 FHER 3 HFIHER
2 % A
I BA 118 B
‘ : . i
ERTO%E F4E g ]
Ao WEROE it = T & 1
130,731, |AT.419, 423311, INRU R "
) ) ) ) ) bl E M N ) >
L fEA 139 575 5g4 | L BUFIRBLS 387
2 VAR | 247,188
2 A 44,652,645 | A464,328 44,188,317 | 1 BI4EZRRLSY | /494,314
2 VHHARAE Ay 29,986
3 Fll 7 6,729,814 A152,070| 6,577,744 | 1 BUEZBI4Y | A152,070
e 482113, |A8035  |474,077
= = o, U0, U7,
A 598 973 625
I BE 2IH  EFHIEM
i
H MIERTOKE il E%E B G|
" X 4y &
iz iz iz T TH
1 fEA 17,764,489 97,234 17,861,723 | 1 BUEZBI4Y | 106,626
2 VAR | 29,392
2 WEA 141’566;139 1,391,850 142’958é89 | BUERBIY | 1,328,848
2 VHHARE Ay 63,002
. 159,330, 160,820,
EEME gpg| 1:489.084 012
I BE 3TE M TIHERL
i
H WIERTOKE il E%E &t S|
" X 4y & %
166,259, | A1,426, 164,832, A1,426, o
N4 » ) ) ) ) ) ) E A ) )

(3)




oY) ATH  REhFERUSRL 5MH W72 R 6IE S HFIARL 7HE BE i EGR
SIH R 5| Hpt
Y 415 REhPERUSHL
— \ . i ..
H MIERTORE  AIEAH At X o 0 i
T T T T TH
™~ /E = N
1 gﬁj@ﬁﬁ 26,289,485 | A433,310(25,856,175| 1 BUAFEERI4SY | A327,972
AR Sy | A 105,338
oY) bIH 71X B
i )
VERTO4E  AHIEAH S G
H MIERTOKE  fHIES 5t % o % 5 1
iG] iG] iG] T TH
1 W71 8i117,328,502| 1,497,573|18,826,075| 1 BLAEREBLSY | 1,497,226
TR oy 347
oY) 61H =L 7 SEH B
i )
. y‘@ E - E = = H
H fHIERTOO%E A/ E4H at X o R V]
. TH TH T FH TH
IFH%E < 1,700,145 1,740| 1,701,885| 1 BIAFFRBI4Y A150
TR oy 1,890
oY) T HEYEEUSHL
i )
VERTO4E  AHIEAH S G
H MIERTOKE  fHIES 5t % o % 5 1
. FH FH FH FH FH
1 Sﬁjﬂﬂ&ﬁ 10,852,016 | /\62,534 10,789,482 | 1 BIFEHBLS | A62,534
YT S8IH L 5| BBl
— ‘ - i -
H AIERTORE  AIEAH At X % o : é
T T T T TH
1 &5 B |37,514,074 | 865,506 (38,379,580 | 1 BLAEFEFI4Y | 1,089,695
TGRSy | A\ 224,189

(4)




gk BB 9 BEhERL 113 FFRUBL 123H IHIBIC K AR 13T ERIREARGI S SERL
I BBL 9T HEhERL
Hii .
VERTO%E AR E oo B
H FHIERTORH  HES 1 % o % 3|
T T T T TH
1 H#@hERL [96,193,202) 642,406 96,835,608 | 1 HIAEFREMBLSY | 720,903
2 VAN Sy | AT8,497
Ik BB LI PR
i ‘ . Hii .
ERTO%E 1E%H g ] B
H FHIERTORH  HES —_ o H
T T T T TH
1 FFHRL 27,210 A326 26,884 | 1 BIAERFISY A326
Lk RA 1256 [H¥EIZ L D8
Hii .
JIERTOKE i E%E 7 G H
H FHIERTORH  HES x 7 o % H
iz iz iz T TH
2 S| BB 35,207 2,070 37,277 | 1 ks 7y 793
2 BUFERPL S 1,277
IBi&IZ& S
rmpen 35,312 2,070 37,382
Ik BB 1355 R IRERR B 2R
i ‘ . Hii .
ERTO%E 1E%H g B B
H FHIERTORH  HES 1 % 7 o % H
iz T T iz T
(=] oS
1 igﬁwm — 2,677 2,677 | 1 BUAEIRBLSY 2,677

()






